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PART -C [Marks : 100
GEOGRAPHY
(Marks : 35)
51. The term ‘epicentre’ is associated with
‘e08i20¢3500" A8 B02080DHE
(1) a Volcano (2)] an Earthquake
e9MTe5:000 0550
(3) aFolding (4)| a Faulting (Ans- 2)
B00¢58500 AR DR e
52. The deep, steep and “V’ shaped valley is made py a river in it’s
6 eI EBoFoHB $00 O $IS” §°B, B Teo S V’ es55) S0l Jpationd
(1) Young Stage. (2) Maturity. (3)| Old Stage. (40 fiddle Stage.
5508658 & o538 3y &5% Socsgs 59 (Ans: 1)
53.  ‘Doldrums’ are the
o (’5@533’ 50
(1) Northerly winds. (2)] Wenters winds.
&8O DT B BS5re0
(3) Calm and light winds. (<) rasterly winds. .
BT0B83, BIIS ST B DT (Ans' 3)
54. Cirques are the erosional landform o=
TR0 2 Desoe] o), ESFRIE P A 8 SErTren
(1) Rivers. (2) @aciyg (3)[ Waves. (4) Wind. A 2
55000 RNV AR oW 2355008 SSored 5550 ( ns. )
55.  ‘El Nino’ phenomenon occurs in the
DEIT EYigE0800 HogRoin SoFEsEo
(1) Indian Ocean. (2)] Atlantic Ocean.
SO SaERSIEo eeroeds Bo5%sSE0
(3) Arabian Sea. (4)| Pacific Ocean. (AnS' 4)
eBHAT S50l50 TE Srraso 50 ) —
A [PT.O.

SS
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Which of the following satellites is used for weather forecast?
&3 @08 TS D EXETTo THO° TTHEE? HITT TR DS HENE0?

(1) IRSIC (2) SPOT
.e35.0%. IC TS
(3) LAND SAT 7 (4)rINSATHB
ol 5 T 5535 4B (Ans: 4)
Most of the weather phenomena occur in the
TTHOE (PIGAN H I B2 DS e3corixB008
(1) Troposphere. (2)] Stratosphere.
(€5 es58e20 ELeS° esd8eno
(3) Mesosphere. (4)| Ionosphere. ( AnS' 1)
DR es555830 @O es35e30

The winds which blow from sub-tropical high pressure belt to swo-;0la’ low pressure belt are the

xS €500 B ek Doge $08 IS ey

P55 Do D) Mg e

(1) Trade winds. (2)] Westeries
TrHIE S50 AT
(3) Easterlies. (4)| Jof strcan.s.
By SSTe0 R Soeo (Ans: 2)
The normal lapse rate in the atmospherc i5
T8 TEOEd SRS ST UMD
(1) 6.0°C/k.m. (2)] 10.5°C/k.m.
6.0°C/&.20. 10:5% €. /4 56.
(3) 4.5°C/k.m. (4)] 5.5°C.k.m.
4.5° C/3.2. 5.5° C/2.5. (Ans: 1)
Continental drift theory was proposed by
POLION DTOTY EST DO THIG
(1) Davis. (2)| Penck.
i 208
(3) Wegener. (4)_Dutton.
2256 &6 (Ans: 3)
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The effect of coriolis force on the equator is
SE0¢0P SORBrOR ¥ oY), ©Herks
(1) Zero. (2) Moderate. (3) High. (4) Maximum.

Bg0 TS0 Q%o ftex'al (Ans: 1)
Which of the following is a large scale map?
52 ($oBTE” IO HFeRPD W)y0 Ho BFOIGHIN
(1) Map of India (2)] Map of Andhra Pradesh

g5 O ST E0 e50(G30T ST
(3) Map of Warangal District (4)] Map of Hyderabad City

(Ans: 4)

Nlelohh(o] B SO0

What is the local time of New Orleans located a
is 12.00 noon?

BS25 (0°) 35¢5 350000 Sogrginoo 12.00 eox
R300I00 D0BH0L008?
(1) 6.00 am
(3) 4.00 am.

(2)
(4)

‘Grand Bank’ is located in the

ol ergol’ ey o

(1) North East Atlantic.
L7 eﬁe;:oeﬁg

(3) North East Pacific.
Be7i5 Dops

(2)

4)

The highest point in the Antarctica is called
250e70),e35°6" exog o
(1) Queen Maud Range.
255 57& Boef
(3) Vinson Masif.
Do BT

(2)

4)

2ETErd SIS SPEDGBO

| 90° west longitude ~when the time at Greenwich (0°)

553065, 90° 53 oz diity 137 ©OANT, ¢ DY

691 .

.00 pm

(Ans: 1)

North West Atlantic.
T @egjo@jg
North West Pacific.
T ek

(Ans: 2)

Mound Erebus.
3306 0205

Memrudo Sound.

(Ans: 3)

WETE FFros

[PT.O.
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Nomadic herding is the major occupation in the areas of
B50)800 HETE0 8 (FroTred’ BS99

(1) Mediterranean region.
K0635E0° Bo0lgs oo

(3) Tropical deserts.
esQI0SOP A0

2)

4)

Equatorial region.
giro¢is BerEroso

World population distribution is mainly influen

55308 e3rEr YT H3eTIB0 DY (BT eo¥o

(1) Soils.
SUNERCY

(3) Minerals.
Pede3dcalien

Palk Strait connects

T 20808 580 @rozren

(1) India and Pakistan
aoéo&?-@%@;ﬁ

(3) Pakistan and Iran
TETR-30°%

Which of the following is not correctly n'atciieq

&2 GBS’ DO [BS BT

(1) Bushmen-Kalahari desert
2205, (esen - P50 JAEd

(3) Kirgiz - Central Asia
30280 - o0 eshA”

Suez canal links

[roXel SPe0 Kend) Snocres

(1) Black sea and Red sea
99 VB0 - B BdEo

(3) Mediterranean sea and Arabian Sea
BoGgEoe 5010 - eBNHOLP BHvEo

(2)

4

2)

(4

(2)

“4)

(2)

4)

Dol -
T UTAr TOETOTT

Gy eroTren

ced by

Physiography.
VDK FErso
Climate.
TR

India and ri/Lanka
20T Book
Lian 7nd raq

W°5-50°5

Pygmies - Congo basin
Do - SPoREINS
Semangs - Japan
WSToN - ete

Mediterranean sea and Red sea
533(,556,56‘3 D[RO - B DR

Red sea and Bay of Bengal

(Ans: 3)

(Ans: 4)

(Ans: 2)

(Ans: 4)

DT80 — 0T PHOo
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Rainfall distribution on the map is shown by
JPSDGBo égﬁ‘é DY B8 DGO DTDTD

(1) Isotherms. (2) Isobars.
o0 oFerdy

(3) Isohyets. (4)[ Isohalines. .
e P B (Ans: 3)

In this climate oranges, grapes, olives and othef citrus fruits are mainly grown.
T00es, (O, €593 0D FBE D3hy DOOGR[HOC JENIT D0k BELERS

(1) Monsoon (2)] Savanna
ABSLE DN T
(3) Mediterranean (4)] Continental
Sosssgsor POTOBES (Ans: 3)

The ‘Pampas’ is the name given to grasslands gf
DoT0 &3 DE D FroBod) SN abesoLesditiy?

(I) Argentina. (2)] Risia
@90&330 G

(3) Australia. (O South Africa. (Ans: 1)
es(dar &8es ez

The percentage of urban populatisi ‘n the world is about (presently)
SR8 0w wTrerS” S ENGRRR), TH0

(1) 40 (2)] 50
(3) 60 (4) 70

(Ans: 2)

The general slope of Deccan Plateau is from thg
$35),550 DELTD Do), FTSes T

(1) Northwest to South east. (2)] North east to South west.
OO Bood eHcbo B350 500G Peadd

(3) West to East. (4)] North to South. .
53y500 008 EIE ERCTREI Wy (Ans: 3)

[PT.O.
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Which of the following rivers flow in a Rift valley?

52 $od TS DOY $08° (HBIreBd HB O

(1) Son (2) Cauvery (3)
0 S0

North and south Karanpura are famous for
&85 S0000 ¢33 SESHT™ IS BHY.

(1) Coal. (2)
g

(3) Manganese. (4)
S0

As per 2001 census the most urbanized state in

2001 esTrer 35,0 55780 @@5&33’ SR e Mo

(1) Gujarat. (2)
roesTeS

(3) West Bengal. (4)

530 Do

Major source of irrigation in Telangana is by
DOOTETS” D63 FEEOL (PG 550

(1) Canals )
SRGUNISH)

(3) Wells 4)
EAEN) IO

This is a highly populated district in Andhra Pr
SOGHOTS” B ey Ko e 202

(1) Guntur (2)
[§Slolhbx ob)

(3) West Godavari (4)
$3y50 Aorsd

Narmada (4) Indus
el [OLER

(Ans: 3)

Iron ore.
R G
Mica.

P°

India is

T’é}o
Mabharashtra.
[STY
Tamil N( .
AT

Tanks
D0
Others
FBHSHE000

hdesh.

Vishakhapatnam
JTPENO

East Godavari

By o0

(Ans: 1)

(Ans: 2)

(Ans: 3)

(Ans: 4)
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Which one of the following is not the tributary of the river Godavari?
55 800 TS DB ATH0 S5O Do), &BHO T

(1) Manjira (2) Penganga
500885 Srome
(3) Wardha (4) SOy e (Ans: 4)
T eV erve
Kakrapar Atomic Power plant is located at
S0 e Jesogd Soio o Tge B9
(1) Rajasthan. (2)] Karnataka.
o w i) Sooyeal
@
(3) Maharashtra. (4)| Gujarat.
S0P Koesoe s (Ans : 1 )
Tilaya, Konar and Maithon dams are part of thq
ook, 555 $oBa0 TS exdsges Be PRYS’ eres
(1) Nagarjuna sagar project. (2)] Damoda* pio 2Lt
TSR0 ek IREENES
(3) Bakranangal project. 4) “ung bacra project. A . 9
2E00NS e BooheE e ( ns. )
In India, South-West monsoons blow fiHn:
eTOBTH0S” Ped B0BOVITR0 I Eed
(1) June to September. (2)|June to November.
2370 R00G VRO 2570 5006 B0t
€
(3) May to September. (4)] May to November. (Ans: 1 )
0 H5o0d WHoD o H50é Soed
The early states which benefitted by green revdlution are

DS JP0 B HN0E0 0 FodD TRLRO D?

(1) Punjab, Haryana, Bihar. (2)
Soeren, 5rongd, D56

Punjab, Maharashtra.
2023200, BT,

(3) Punjab, Himachel Pradesh. 4)

Punjab, Haryana, Western U.P.

$0ee0, SPRIESERE

Soere, STOTG0, B850 GBOENT

(Ans: 4)

[PT.O.
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HISTORY
(Marks : 30)

Which civilization is known for inventing the wheel?

BESDB EBOR) THBES D9

(1) Egyptian (2)| Sumarian
52 o8O0 .

(3) Indus Valley (4) Chinese (Ans ' 2)
DO P

What was the Sumerian system of writing?

REABONSO 78 FES 2 Do GoGd?

(1) Pictography (2) Calligraphy
T8 LED H¢S DAFD

(3) Writing on palm leaves (4) Cuneiform (AnS: 4)
TredesHey @AKo S0

Which one of the following was a city state in GGrec=c?

& (308 TS B (BRoE Beyen Toeg0?

(1) Rome (2) Ur (o) skkad (4) Sparta (AnS . 4)
&' &b of),& T

In whose calendar the first year tegiiz vith Hifira?

230 $°B0ebE’ Iao¢sed o3RO & JnocspHBood

(1) Muslims (2) Jews (3) Parsis (4) Christians A . 1
00000 Qe FEyeo e (Ans: 1)

St. Peter’s Church is located at

20000065 2626y 198y e Soti?

(1) Constantinople (2)) London
S"S’?go@fﬁs@e’f lete ]

(3) Rome (4) Paris
&5 B (Ans: 3)
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Who was the first Roman Emperor who embraced Christianity?

B 505D HHnE Dooesed E08 HESG A5eH9

(1) Julius Caesar (2) Augustus
20D esd S

(3) Constantine (4)Doctettan (Ans:3)
SRSINCINS GaXrSairs

Who painted ‘Monalisa’?

ROTOT'0 DPoWoD D507

(1) Leonardo Da Vinci (2) Michelangalo
OTTTG & Y Aseroes’

(3) Raphel (4) None of the above (Ans: 1)
opd PRDOH0 S

Who declared ‘I am the state’?

TR Tyl ) (5000l JH8?

(1) Napolean Bonaparte (2)| Louis X'V
POANS ST P o V)

(3) Herny IV (44 Logis XV (Ans; 2)
45 3 N5 eroar

Which one of the following was rot.a pa't ol the thirteen colonies of England in America?

54 08 73ISR D8 e0TE R (eI NE ®WodS 1

(1) Newyork (2
SO

(3) Virginia (4
Nellevey

Who wrote the book “Wealth of Nations’?
DS 3D Dy’ 10ES BB AS5E?

3 Sobed’ .83 089

(1) Karl Marx (2
58S ééfgb N

(3) Adam Smith 4
e8¢0 DS

Georgia

wgos (DELETED)

Luisiana (One Mark added To All)

SAlovbin

Ricardo

058

James Mill

B85y 208 (Ans: 3)
[PT.O.
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‘Suez canal’” was opened for traffic in the year

D 505855208 Wrod TS (Her IVABTHO S0 BodREod?

(1) 1869 (2) 1863
(3) 1879 (4) 1889 (Ans: 1)
Which of the following formed the Triple Alliapce?
5+ $08 TS D BT et DOTEN SoxT00?
(1) Austria, Germany and Italy (2) Turky, Italy and Germany
SRQAIT, B35S BB 360 68y, 3699 5080 et
(3) Austria, Turky and Germany (4)| Italy, Britain and Russia (AnS: 1 )

SRAIT, €0); HoBaw 2

Kautilya’s Arthasastra is a book on
TeJengd ©gTROo B 80D DHBJe

39, DS B0k X

(1) Religion. (2)| the principles «ad rractices of statecraft.
Soso OresgR ANy SoBaky S50
(3) the duties of the king. (4) Faraien nolicy. ( AnS' 2)
OPey Qoo DG0ed PN Iso )
Who among the following was a great gramm. fia.:?
5+ 808 TOE" A9 A TECEIG
(1) Kalidasa (2) Manu
SePTTRD 500
(3) Patanjali (4) Panini (Ans . 4)
$e50e3® e
Which one of the following is not a work of Kallidasa?
5 (308 73" DO SPITTR WBoo), BBBSC0?
(1) Malavikgnimitram (2) Abignana Shakuntalam
ST oo @ﬁ)afg;é FE0800
(3) Dasakumara Charitra (4)] Kumara Sambhavam
CSBEOXTE BB SRS SogT A
(Ans: 3)
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Which one of the following was not a general of Alluddin Khilji
54§08 TS A9 eer RS HE Do), WTTONHOE” s 570?

(1) Jafarkhan (2) Nasratkhan
2390 grS SESEeS
(3) Malik Kapur (4 )y vtatrabatktran (Ans. 4)
3598 8576 BoeRSIS
Which crop was brought by the Portugese and introduced in Akbar’s Court?
2 5063550 FENART D oSBT BIS I pb csonytd” 309
(1) Groundnut (2) Tobacco
DEESK D
_ (DELETED)
(3) Sugarcane (4) Mint (One Mark added To All)
DD DHES
Which Kingdom was ruled by Nizam shahi dyrjasty?
QPSP H0F0 HOTDoVS Teso AB?
(1) Bijapur (2) Golkonda (3)| Perar (4) Ahmadnagar
Desis6 ey ocs 2% erbas  (ANS: 4)
Krishna Devaraya had friendly relations with ‘e
D508 HIASTaHes PG Soworreiss FEIRTHE:?
(1) Portugese. (2) French.
PSR (ol
(3) English. (4) Dutch. (Ans: 1)
30A2, &
In 1856 Railway Line was laid between
1856 058008 085 85 &8 Dodoe] Bogl Daepdod.
(1) Mumbai to Thane. (2) Calcutta to Ranigunj.
B000eT00 K00t T Eo¥T® Soods ovednoes
(3) Thana to Poona. (4)] Madras to Arakonam. .
“g s (Ans- 4)
T 25008 ST S0 006 eE 0
[PT.O.
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The first incident of 1857 Revolt occurred at

4

1857 S0i2e20 00¢5ed HOP0ENS 28) & I 5oaso0000d

(1) Delhi. (2) Calcutta.
) Sosar
(3) Meerut. (4 Jhansi. (AI‘IS: 3)
E.biféf quj"?\)ra
Who was the founder of Young Bengal movemgnt?
‘00N BTG €t3gSo S JNE?
(1) Derozio (2)f Keshavachandrasen
A83B 365 Bosos
(3) Bankim Chandra Chatarjee (4) Rabindranath Tagore A . 1
200850 oS Hef EoTd oosrb ( ns. )
Who founded the ‘Servants of Indian Society’?
5550eT) e Rodadd Fped oty e
(1) Mahadeva Govinda Ranade (2)| Gopalkrishina “okhale
505G RoLs TSt i A 5S
(3) Khan Abdul Gafarkhan (4) vir S =d . \hmed Khan ( AnS' 2)

e S K0grs

Who among the following was the first'(naian
@ﬁiﬁ“@aoﬁ&b ANEQOK De3e] ROBOONF DS

%0 aoi:g% @:50&5355

0 be a member of the British Parliament?
509

(1) Satendranath Sinha (2) Gurudas Benarjee
RBOETE T KSR 899
(3) Dadabhai Naoroji (4) None of the above (Ans: 3)
oTreran IO PRNAL S
Who organised a secret revolutionary organisatjon called ‘Abhinav Bharat’?
‘OB eSS’ e 855705 DD Do ©;§§JC$D N)sTe b
(1) V.D. Savarkar (2)] Shamji K. Verma
V.D. F565),6 F0e K. 56
(3) Madanlal Dhingra (4) Jatindas
$5265Serd Gofr BASTR (Ans: 1)
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Khilafat movement was launched under the leadership of

DS extigionon JH0 TradEBed” (FrEogionod

(1) Ansari. (2) Maulana Abdul Kalam Azad.
e y0 ST wend Soras erd

(3) Khan Abdul Gafarkhan. (4 ATi Brothers. ( Ans: 4)
TS w2d K309rS @d P&

Who was the author of ‘Hind Swaraj’?

srob 50°eE (ol BB JS5E?

(1) V.D. Savarkar (2) M.K. Gandhi (3) Bagatsingh (4) Bamkim Chandra Chatarjee
V.D. 55,6 M.K. rod &S 20h 23080 B0 5628 (Ans:2)

Who was the founder of the Forward Bloc?

0 &0 0000 5809

(1) Acharya Narendra Dev (2
ST SO0 B

(3) Jayaprakash Narayan (4
B3OSR ToRades

Who was the leader of Individual satyagraha?

‘;ﬁﬁﬁé QTGT TOWES D59

(1) Vinobha Bhave (2
RISTVEVN,
(3) Mahadeva Desai (4

S50 Ao oot

Who was the President of Indian National Cong

1947 &° ersstmdd TR0 FAED §TEH

Subashchandr. Bofz
Vn).)EJ“E) ] )@f “‘E%

KosieMienohar Lohia A .
ns: 2
ESSWSHE S%rary ( )

Pattabi Sitaramayya

i 5

SiL0 SeoTEaRs (DELETED)
Sarojini Naidu (One Mark added To All)

56%89) PO

rress at the time of Indian Independence in 19477

b0 SPORD G 507

(1) Maulana Abdul Kalam Azad (2) J.B. Kripalani
oo eed Sovas eerd J.B. 5o
(3) Vallabhai Patel (4) Jawaharlal Nehru
Seera $ES 2BT0 TS DT (Ans; 4)

[PT.O.
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CIVICS
(Marks : 15)
A ‘Confidence Motion’ is introduced by the
TR BTYTR) Fadaea) 58
(1) Opposition leader. (2)| Prime Minister.
BOBE T SEsH0@
(3) Speaker. (4)| Deputy Speaker. (AnS . 2)
28 &gl s
Panchayat Raj System was first introduced in
Somrahsoes 23595380 00¢5e3T0K @?f)%’aaééé o3P
(1) Guijarat. (2)| Bihar.
K20 058
(3) Rajasthan. (4)| Uttar Pradesh. (AnS ' 3)
@%@;5 &B8 B0Of
Which Article of Indian Constitution Provides forl Usi arie Tivil Code?
é;;ﬁoéé 3“66%;533 RET0N0500 SO0 U Trar R (ECETSL WAV
(1) Article 14 (2) Article 18 (=) Article 44 (4) Article 45 A . 3
B85 14 B8GR5 418 BECEs0 44 B80es 45 (Ans: 3)
The Governor of state is responsiole 10 the
TR S0 erisS RIOSAC A
(1) Parliament. (2)| Prime Minister.
ventey] 0 D00
(3) State legislature. (4)] President. (Ans: 4)
U"é;))%"’é?é gy o@;aé@
The Present chairman of Rajya Sabha is
Oresgiey (5798 @6&5
(1) Hamid Ansari  (2) Rehman Khan (3)| Pratibha Patil (4) Nejma Heptullah
508 @D oS S B3 35 sery e (ANS: 1)
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In a Parliamentary form of government, executive is responsible to the
FER0060 B (HE0E0S" TEROCTETP e S0

(1) Judiciary. (2) Legislature.
Féai)%“aa FoT°YP
(3) Media. (4)| Political Parties. (Ans: 2)
B B¢5080e oresdo> rdew
How many official languages are there in UNQ}?
ss§§c5°33§ DD 9HTE R ?aoaa§ 09
(1) Five (2)[ Six
500 e3&
Ans: 2
(3) Four (4)| Eight ( )
TR 8.
The guardian of Indian Constitution is the
g5 Toanoll SOCEE Db JHto?
(1) President (2) Prime Minister (3)[ Sdpieme Court (4) Parliament
PR B Soo® NG 5563 TG00y
The new member state of SAARC is
0y, BB SeiOresgod
(1) Myanmar. (2)| Afghanistan.
Soad ST
(3) Iran. (4)| China. (AnS' 2)
oM o
The ‘Objectives Resolution’ was introduced in fhe constituent Assembly by
Crersol 508" ‘esolire STy BRFINE 500
(1) Dr. B.R. Ambedkar (2)|Dr. Rajendra Prasad
o £).e38. 0250 oI orEolS (ard
(3) Jawaharlal Nehru (4)| Sardar Patel
5556 DS S 3638 (Ans: 3)
[PT.O.
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The founder of Scientific Socialism is
TR0 RIS eSVTYSEY 5G9
(1) Lenin (2) Karl Marx
325 S 50y,
(3) Stalin (4)[Robert Owen (Ans:2)
TS oo 23S

The Chairman of State Planning Commission i
O, (RETVE 503050 PO IS?

(1) Chief Minister (2) Governor
Boogpgood K550

(3)

The Secretary-General of UNO is appointed on
¥EgTress DS FD B35S DaITRHOENLBL D]

the

(4) Prime Minister

s 0@ (DELETED)

(One Mark added To All)

Finance Minister
eﬁg§ Nble]l

the recommendatiorso. the
5530 DOX05E

(1) General Assembly (2)]Security Cauncil
TGES e 5% pod®

(3) Secretariat (4)|Intcnadcaal Court of Justice ( An s: 2)
BTN OIS B> TR0 ]

The Election Commission of India is a

PGS JZL Dok

(1) Multi member body. (2)| Single Member body.
eRIR008Yg 50 NV

(3) Two Member body. (4)[ Four Member body. (Ans: 1 )
B g5 003 DBoG Dy D0

The first non-congress Prime Minister of India was

00653 SCORVBE gTEH (KSR E?

(1) Charan Singh (2)[ Chandrashekar
BEH Hoh Bos@pd

(3) Morarji Desai (4)] V.P. Singh
2w007g BFmad 2. 501 (Ans: 3)
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ECONOMICS
(Marks : 20)

131. Growth definition of economics is associated with the name
@g%ﬁgo A3008); ;505@ QS50 B0 52@5 eﬁgﬁejg

(1) Marshall. (2) Robins. (3) FAdam-Smith——————<—Samuelson:
Sred =05, eSS Fordss  (Ans: 4)
o
132. Change in total utility as a result of consuming one pdditional unit of commodity is known as
es¢S50TT 2.8 OIS SRR DARBTACVHOLKOP Dso HBrezsod’ ;6313;3?630)263 ----- 90eTE0
(1) Averageutility. (2) Cross utility. (3)| Marginal utility. (4) Absolute utility. ( AnS . 3)
QLD [PAdTresde a@ééoé‘acﬁ (C3T*e350 &rod (HadTesdo s)csﬁg (EA3T°e350 '

133. Product differentiation is the basic feature of which|of the following market?
ST 5550, BoBT S D 55°8),5 B, GG ©§e0?

(1) Monopoly (2)| Monopolistic comp :titiG»
DEdrgiogo DERrgiog e

(3) Perfect competition (4)| Bilateral monoply (Ans: 2)
RO el DT ETML

134. The base year for the estimation of national incomf at < onetaat prices is ——
R0 (5508° erSUrTrolh WO (0L e BQDERT0 -

(1) 1993 — 94 (2) 1995 — 96 (0] 2002 - 03 @ 1999-2000  (Ans: 4)

135. Disposable income is equal to which &f the totlc Wing?
S50y estrade BodTras” GRS SN

(1) Personal income + Direct taxc: (2)| Personal income + Per capita income
;’35%\&9@0:130 + @’Je‘%i AR éégwmojao + %o 50 eoralbo
(3) Personal income - Direct taes (4)| Personal income - Per capita income
P STON0 ~ (B 55000 SEASTN0 — BOHO STANO (Ans: 3)

136. Lorenzcurveisused to measure which of the following?
€08 T°S° BV Fes5erAE &0k SEOP ESATATEL?

(1) Incomeinequalities (2) Volume of unemployment
STPAD IS DHE T 50570
(3) Volume of tax revenue (4)[ Human Development Index
SIS or2ass HBBTe0 PNSEAVY @@@QCQJ oIS ( An S 1 )
A [P.T.O.
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137. Which of the following programmes was started in the year 20067
Eo&8° D 56553 2006 5058508 Sofomth?

138.

139,

140.

(1) National Rural Employment Programme  (2)

Integrated Rural Development Programme

ErAA0 (rioe &0 D80 35208y (TrRoeTDHY B0 (Ans: 4)
(3) Jawhar Rojgar Yojana (4)[ National Rural Employment Guarantee Programme
23555555 &b aress 2N ((TaOED GOt $5¢5%o

The Basic reason for Quasi - rent to arise in the sh|

X)ES@OJS“@O@S‘S STEESEEALR To5e08 S°5e0

(1) Elastic nature of supply of man-made factors ¢
BB &) TG 9305 TE TR
(2) Inelastic nature of supply of man-made factors
BIH50 0P e T 505 eEih
(3) Infinitely elastic nature of supply of man-madg
B0 & G $30D eidod TS
(4) Unitary elastic nature of supply of man-made |
S5 DB &) TG [Pk DESs 3"55‘9 n
The difference between the value of export of pity
ZFPOE SO0 MG e 0000 ST MY
(1) Gross Balance of payments. (2)
c‘\/@JJD@ B@o@@ ')
(3) Import tariff.
QROX[0D Booso

“4)

ort - run is the

f production.
Oy $OR&0E
of production.

Py SOAE0CE0

factors of produ‘tion
5777 FOMEoLse0 (AnS: 2)
actors o1 or¢ dvction.

EWWLNIDR cocieoo

‘cal goods and import of physical goods is called as —

> NS0 Dok 50655 ey BTk

Trade Balance.
SEE T3
Net Balance of payments.

QES :)E;)O@EJ 3o

(Ans: 2)

Which of the following economist discussed the importance of Investment in social overhead capital and

Directly Productive Activities?
TPoE @263;5?6 [oTOEH0 B00AK0 (P GO

¢ SSErTeS’ Dead IR 1000, EodTIE" D

Eﬁggf)é_’% BOYOTCE?
(1) Hirschman (2)[ Rodan
35 B0 S~
(3) Lewis (4)L.Nurkse
o s (Ans: 1)
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Reporate is the ——
O Bt D

(1) Longterm interest rate charged by Reserve Bank of India.

&5 Oesb a0t SRTrerdh s O 5EBe0

(2) Longterm interest rate charged by Central Bank of America.

2005~ Bo(lS e ST B AYTOE 5GBEN

(3) Short term interest rate offered by Reserve Bgnk of India.

g% Besbs 70t DDOD S5y O $EBEN

(4) Short - term interest rate charged by Reserve Bank of India.

BTG Besby a0 SRTerB R 350yS O $G0ep

The chairman of 13th Finance Commission is —

135 €508 £2008 PGS

(1) C.Rangarajan (2)| Kelkar
2. Sororess Seop,6

(3) Ahluwalia (4)] D. Subba Rao
Srsavidlev G. BoeTm

A firm which produces with the least average cost jn the lot. 2 -(ur'is called the

B 00s” EDH:51Me0 S00008 &85y EHAACL DAL M0,

(1) Optimum firm. (23 Margiaal firm.
efoReIon NS QBrodh NS

(3) Average firm. 4)| Irrational firm.

PTA(hE) éog

'i?ééaeacgo?ﬁ o

Who constructed physical quality of 2##< index at fjrst?
A0E5ITOM LTS S0 Y, L5500 0rDER0 SIRrofo0NG JHE?

(1) Amartyasen
[o]

(2) Mahaboob - ul-Haq
Sorerd-&d-58

(3) Morris D. Morris
Ar0R.CATOR

(4) Galbraith

(4

o)
@

(Ans: 4)

(Ans: 2)

(Ans: 1)

RS

(Ans: 3)

[P.T.O.
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145. Structural Unemployment problem arises because of

146.

147.

148.

ATENBR0 A GRT 5058 T°EER0

(1) Excess supply of Capital.
RRRLOTa ) éécﬁ) QSO 00

(2) Shortage of capital.
0T H905 §EB aotitro

(3) Shortage of labour.
Eésﬁoégoij 58 es0¢soo

(4) Entry of multinational companies.
QRTOTEPS DO (FF0

The ratio between change in consumption expendi
STPON0E ) STENK $58aK0 SIS IR A

(2)

(1) Average Propensity to consume.
230620 DIDTK BN

(4)

(3) Absolute income.
K)c‘ﬁag 3070500

A market characterised by the presence of singl¢ s¢

2.8), SH0R 00TPEd 550050 8.4), @B EOTIRENRY

(1) Monopoly. (2)
Dé@“;g;ﬁa?so

(3) Duopoly. (4)
BT QB0

In the balance sheet of a bank, the deposits are trg

eT0 esy-eye B3, dreieo DRaHT0?

(Ans: 2)

fure and change in incom¢ is valled as

o 550008 SorEfo MMers) DR D Ho0eTE?
Marginal prope asity o consume.
€70 JITYEK NS

Income las#auty.
IR0 5 ~§5{3€‘9°go

(Ans: 2)

ler and single buyer is called a
53,8555 Da00eTE0?

Bilateral Monopoly.
o S8y 235@"’523350
Oligopoly.

SBABI 050

(Ans: 2)

ated as

Asset items.
€50) E90T°OD
-t

Profititems.

(1) Credititems. 2)
B oz

(3) Debititems. (4)
) OT°LD

ey 90T 0

(Ans: 3)
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The value of final goods and services generated within geographical boundaries of a country, in a given year is
called—

2.8 DR V05008, 2.5 T FRPE D050 &0 HRoedts eodB Sgabe Jeosis ---— eoerdD.

(1) Gross Demestic Product at market Prices. (2) Net Domestic Product at market Prices.

577065 5508 SrenBRTEND ST 07 it DEPRATEN
: ; - ] = (Ans: 1)

(3) Gross National Product at market Prices. (4)| Net National Product at market Prices.
570,65 508" Hre erdaired 570,85 G80E° K erIBTES

Which of the following is not a direct tax?
OIS’ DB R 55y 5T

(1) Income tax (2)| Wealth tax

e5CT°0N0 550y KOS B85y (Ans: 3)
(3) Salestax (4)| House tax

€953,80 585 063 B
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